
 

  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE 2010. 

Second Year 

Corporate Secretaryship 

BUSINESS STATISTICS 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the limitations of statistics? 

 ¦ÒÎ°¯¼ß SøÓ£õkPÒ ¯õøÁ? 

2. What is an index numbers? What are its uses? 

 SÔ°mk Gs GßÓõÀ GßÚ? Auß E£÷¯õP[PÒ 
¯õøÁ? 

3. Define time series. Describe the components of 

time series. 

 Põ»zöuõhº Á›ø\ø¯ Áøµ¯Ö. Põ»zöuõhº 
Á›ø\°ß £SvPøÍ ÂÁ›. 
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4. Calculate coefficient of mean deviation from the 

following data : 

x : 10-20 20-30 30-40 40-50 50-60 60-70 

f : 5 8 12 15 20 10 

 R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁµ[PÐUS \µõ\› 
Â»UPöPÊøÁ Psk¤i. 

x : 10-20 20-30 30-40 40-50 50-60 60-70 

f : 5 8 12 15 20 10 

5. Calculate Pearson’s correlation coefficient. 

 X Y 

Mean ( )X   25 18 

Std. Dev ( )σ  5 5 

Number of  

obervation 

15 15 

 ( ) ( ) 1251825 =−−Σ YX . 

 ¤¯º\ß JmkÓÄU öPÊ PnUQhÄ®. 

 X Y 

\µõ\› ( )X   25 18 

vmhÂ»UP® ( )σ  5 5 

GsoUøP : 15 15 

 ( ) ( ) 1251825 =−−Σ YX . 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. State the various methods of collecting primary 

data. 

 •ußø© uPÁÀPÒ ÷\P›UP¨£k® •øÓPøÍ¨ £ØÔ 

TÖP. 

7. Write short notes on : 

 (a) Mean-deviation 

 (b) Seasonal variations 

 (c) Classification. 

 ]Ö SÔ¨¦ ÁøµP. 

 (A) \µõ\› Â»UP® 

 (B) £¸ÁPõ» ©õÖ£õkPÒ 

 (C) ÁøP¨£kzxuÀ. 

8. Calculate mean, median and mode from the 

following data. 

Mid point : 5 10 15 20 25 30 

f : 5 15 25 30 15 10 
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 RÌUPsh uPÁÀPÎ¼¸¢x Tmk \µõ\›, Cøh{ø» 

©ØÖ® •Pk PnUQkP. 

|k¨¦ÒÎ : 5 10 15 20 25 30 

Aø»ö¯s : 5 15 25 30 15 10 

9. Calculate the standard deviation. 

Marks : 10 20 30 40 50 60 

No. of Students : 8 12 20 10 7 3 

 ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x vmh Â»UPzøuU 

PnUQkP. 

©v¨ö£sPÒ : 10 20 30 40 50 60 

©õnÁºPÎß 

GsoUøP : 

8 12 20 10 7 3 

10. Compute Laspeyre’s, Passche’s and Fishers Index 

numbers from the following data : 

Commodity  Base year Current year 

 Price  Quantity Price  Quantity 

A 10 6 12 8 

B 15 4 20 5 

C 8 5 16 3 

D 9 3 7 6 
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 »õì¤¯º, £õì] ©ØÖ® ¤å›ß SÔ±möhsPøÍ 

¤ß SÔ¨¤mh ÂÁµ[PÎ¼¸¢x PnUQkP. 

ö£õ¸Ò Ai¨£øh Bsk {PÇõsk 

 Âø» AÍÄ Âø» AÍÄ 

A 10 6 12 8 

B 15 4 20 5 

C 8 5 16 3 

D 9 3 7 6 

11. Calculate two regression lines from the following 

data : 

x : 6 2 10 4 8 

y : 9 11 5 8 7 

 RÌUPsh ÂÁµ[PÐUS Cµsk öuõhº¦ ÷£õUSU 

÷PõkPøÍ Psk£i. 

x : 6 2 10 4 8 

y : 9 11 5 8 7 

12. Fit a trend line by least square method to the 

following data and calculate trend values. 

Year : 2003 2004 2005 2006 2007 2008 

Sales ('000) : 50 58 76 84 90 106 
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 R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁµ[PÐUS SøÓ¢u 

\µõ\› ÁºUP •øÓ°À ÷£õUS ÷Põmøh ÁøµP. 

}shPõ» ÷£õUSPøÍ Psk¤i. 

Year : 2003 2004 2005 2006 2007 2008 

Sales ('000) : 50 58 76 84 90 106 

——––––––––– 


